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ANNUAL EXAMINATION 2021 

BLUE PRINT-2021 

CLASS-5 

SUBJECT:GENERAL ENGLISH 

TIME-2:30 HRS 
	

M.M-100 

Q. 

NO 

TYPE OF QUESTIONS No Of Sub 

Questions 

Marks Alloted 

To Sub 

Questions 

Total 

Marks 

'Total 

1 (A) Do As Directed Multiple (i),(ii),(iii),(iv),(v),(vi) 6 x2 12 12% 
Choice Questions 

(Based On Text Book) 

(B) Match the words 	with their • 

meaning (i),(ii),(iii),(iv),(v) 5 x1 5 5% 

2 (A) Fill in the blanks (i),(ii),(iii),(iv),(v),(vi) 6 x2 12 12% 

(Based On Text Book) 

(B) Draw a picture and write five 

sentences (i) 5 5 5% 
(Based On Text Book) ' 

3 Very short answer type questions (i),(ii),(iii),(iv),(v) 5x4 20 20%im • 

(Based On Grammar) 

4 Short answer type questions (i),(ii),(iii) 5 x5 25 25% 

(1) Prose 

(2) Poetry (i),(ii),(iii) 

(i),(ii) 
5 Long answer type questions (i) 6 x1 6 6% 	. 

(A)Application/Letter 

(B)Short Note 

(C) Unseen Passage (i) 5 xi 5 5% 

(i),(ii),(iii),(iv),(v) 5 x2 10 10% 

Total 100 100% 
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